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2004 2005 2006
3 67 3 71 3 71
12 5,110 12 5,110 12 5,110
3-
2 20 4 40 2 20
60% 65% 70%




12,179,971 11,780,976 398,995|[ 8,047 ]
11,985,239 11,641,699 343540[ 5,800 ]
2 11,068,437 10,724,897 343540[[ 5,800 ]
2- 5,670,584 5,654,784 15800[ 5,800 ]
() 3,560,191 3,544,391 15800[ 5,800 ]
(1250-1252-120-203-03)
= 35,000
35,000,000 - 25,000,000 = 10,000
(1250-1252-210-308-01)
( 5.800)
= 5,800
2- 4,329,080 4,025,080 304,000
61,959 57,959 4,000
(1250-1252-120-201-01)
< >
= 4,000
2,586,753 2,286,753 300,000
(1250-1252-120-307-02)
60 = 200,000
(1250-1252-120-307-03)
( ) = 1,700,000




)
1,700,000,000 - 1,600,000,000 = 100,000
2- :APEC 1,068,773 1,045,033 23,740
541,404 517,664 23,740
(1250-1252-120-201-01)
. APEC = 6,500
< >
. APEC = 2,240
(1250-1252-120-203-03)
APEC = 3,000
(1250-1252-120-303-00)
)
3,000,000 * 1 = 3,000
2,000,000 * 2 = 4,000
1,000,000 * 5 = 5,000
194,651 139,277 55374|[ 2,247 ]
(1250-1252-110-101-07)
53,331,000 * 58% * 18/288 = 1,934
1,934,000 - 1,167,000 = 767

(1250-1252-110-101-08)




(2,707,000 * 2 ) + (4,445,000 * 10 )

49,864,000 - 32,167,000
(1250-1252-120-201-01)
19,020,000 - 17,520,000
33,372,000 - 18,457,000
< >
35,400,000 - 27,550,000
(1250-1252-120-202-01)
54,600,000 - 48,720,000
(1250-1252-120-203-04)
5,520,000 - 4,880,000
(1250-1252-120-204-02)
¢ vt

(140,000 * 2 ) + (400,000 * 10 )

49,864

19,020

33,372

35,400

54,600

5,520

4,280

17,697

1,500

14,915

7,850

5,880

640




)
4,280,000 - 1,680,000 = 2,600
(1250-1252-210-201-01)
< >
( 1.,747)
= 1,747
(1250-1252-210-202-01)
( 500)
= 500
(4110-4111-120-301-08)
(46,550 * 12 ) + (46,550 * 6 ) = 838
838,000 - 430,000 = 408
(100,000 * 12 ) + (100,000 * 6 ) = 1,800
1,800,000 - 1,200,000 = 600
(45,000 * 12 ) + (45,000 * 6 ) = 810
810,000 - 540,000 = 270
81 81
(5210-5211-420-802-01)
<"04 > (

81




